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Orden de Operaciones (F)

Realice las operaciones en el orden correcto.

. 37,24 494,84 +94,92 — (81,96 — 44,73) + 81,55

. (—83,87 465,63 —94,86) + (49,98 — 33,43 + (—9,3))

. 26,8+ (—49,02) +55 x (16,254 (—1,68)) + 28,22

. 92,81+ (—86,61) — (—34,86) — (58,39 —3,24) — (—76,58)

05,8 x (—22,1) — (89,58 — (18,97 +87,3)) + (—15,41)
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Orden de Operaciones (F) Answers

Realice las operaciones en el orden correcto.

. 37,24+94,84 494,92 — (81,96 — 44,73) + 81,55
— 271,32

- (—83,87 465,63 —94,86) =+ (49,98 — 33,43 + (—9,3))
— 15,6

£ 26,8+ (—49,02) +55 x (16,25 + (—1,68)) 428,22
= 807,35

.92,81+(—86,61) — (—34,86) — (58,39 —3,24) — (—76,58)
= 62,49

05,8 % (—22,1) — (89,58 — (18,97 +87,3)) + (—15,41)
= —.126,9
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